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DO NOT OPEN THIS BOOKLET UNTIL YOU ARE ASKED TO DO SO,

2013 TEST BOOKLET SERIES

TEST BOOKLET

Time allowed : 15 hours
Full marks : 90

Answer all the questions.

Questions are of equal marks.

Signature of the Candidate:

INSTRUCTIONS

Candidates should read the following instructions carefully before answering the questions:

1

This booklet consists of 24 pages including this front page. Verify the Page Nos. and Test Booklet Series
on each page and bring to the Invigilator’s notice discrepancy, if any. This booklet contains 90 questions
in 2 languages: English and Bengali. In case of any doubt/discrepancy in Bengali language papers you may
refer to the English versions.

Answers will have to be given on the Special Answer-Sheet (OMR Answer Sheet), supplied for the purpose,
which is in carbonless duplicate. Do not tear or seperate the duplicate sheet.

Before you proceed to mark on the Answer-Sheet in response to various items in the Question Booklet, you
have to fill in some particulars in the Answer-Sheet as per instructions sent to you along with the Admit
Card. Do not fold the Answer-Sheet as this will result in error in your marks.

All questions have four probable answers (A), (B), (C) and (D). Find out which of the four answers appear
to you to be correct or the best. Now darken the circle corresponding to the letter of the selected answer
in the OMR Answer-Sheet with Black Ball Point Pen as per instructions sent along with the Admit Card.

If more than one circle is encoded for a particular answer, it will be treated as a wrong answer.
Yath of the alloted marks (i.e. 0.25) will be deducted for each wrong answer.
There are blank pages at the end of this booklet for Rough Work.

The Special Answer-Sheet with its duplicate intact should be handed over to the Invigilator before leaving
the Examination Hall. You are permitted to take away the Question Booklet after completion of the

examination.
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[BENGALI VERSION]

1. q&f e FRGRAA MY Ao Fad 2
= 30 (4 WCeER 2013 ©ifzed #irafs = ©fE =7,
73 #Afafd S o T

(A) 257TeT
(B) 15 To%4
(C) 29 T=FR
(D) & TSI T

2. N3 2B (A x* 97 W IO LA?

2 4
+ 5
3 6
18 | 54

W

(A) 18
(B) 16
(C) 27
(D) 14
3. ¢35 W8 @© 973 @ DARIJEELING &

@4] z@ FCTLGGNKPI «3% 0@
GOVERNMENT @4l 23

(A) IQXGPTOGPV
(B) IQXGTPGOPV
(C) IQXGTPOGPV
(D) IQXGPTOGPV

4. G 97 FIEF 97 (A 3 G S 4T (AF @ B
% | E @3 e G @3 (U@ @ 7% F 93 (3@
% DIl g | (& S 71 ?

(A) S
®B) G
(C) F
(D) E

5. N7 @G @2
(A) 909/1000
(B) 909
(C) 909/100
(D) 9090/1000

6. gégmmﬁwﬁﬁmﬁa%mﬁﬁ@w
?

&1 2, TEA I G AT A
FE2: A, AR TS P FIeE T
g R |

(A) Ten I A0S
(B) &1
(©) F&2=
(D) Teon P& o

7. Toa ren EifRfe 5a A T G TS
foaft e

Xl | XX | X
@D |+ —Ix|x]|o
NE M @ 6 @
(A) 1
(B) 4

© 3
(D) 2

. T, &
8.3+E+E+§ﬁ—3*ﬂ§m

(A) 3
®) 3
©) 1
(D) 0

9. Mg el @b RS o ASI! SR | AW
TLF
1,4,9, 16, 25, 36, 49, ...

(A) 55
(B) 60
(©) 64
(D) 98
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10. He had to repent what he had done.
Fill in the blank with the most appropriate
preposition given below.

(A) at
(B) of
(C) over
(D) for

11. Sheis so that she easily catches cold.

use the correct word from the following to fill in
the blank.

(A) sensible

(B) sincere

(C) sensitive
(D) sober

12. Pick out the word opposite in meaning to the

given word— “Accepted”
(A) Rejected

(B) Considered

(C) Noted

(D) Followed

13. Choose the word nearest in meaning to the given
word— “Inedible”

(A) Polluted
(B) Unfit for human consumption
(C) Vitiated
(D) Eatable

14. Choose the exact meaning of the idiom/phrase
in the sentence—

The prices are going up by leaps and bounds.
(A) Irregularly
(B) Gradually
(C) Rapidly
(D) Systematically
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15. He chose the path of religion of his own accord.
Choose the exact meaning of the underlined
words in the above sentence from the following.

(A) Forcibly

(B) Helplessly
(C) Half-heartedly
(D) Willingly

16. Out of the given alternatives, choose the one
which can be substituted for the given sentence
One who hates mankind.

(A) Philanthropist
(B) Misanthrope
(C) Cannibal
(D) Terrorist

17. The car suddenly:.
Fill in the blank with an appropriate choice from
the following.
(A) broke off
(B) broke down
(C) broke out
(D) broke up

18. o2 Ry T A AmelR s m B e
AC, FH, KM, PR,

(A) UW
(B) VW
(©) UX
D) TV

19. Why did you not spoken to me earlier?
Correct the sentence by using the following one.

(A) did not spoke

(B) did you not spoke
(C) did you not speak
(D) were you not spoken
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20. Since we are living in Bombay, we are unwilling 26. 53 4o Sife (e Afde e fAdion a2 ¢

to move to another city. - =
Replace the underlined words in the above AR hiail
sentence by the appropriate words given below: a. SIS AT 1. 65 I23 3T T®
(A) Since we have been living Rvsife
(B) Being that we are living b. A FRRIBA RS 2. 62 323 7397 %
(C) Since we were living C. SIFOT FGER SO 3. 6 2 Al 65 I2F I
(D) None of the above STCH (EIEE HFG—a3 W0y &% o
=
21. HIV &[5 @D 11 SYd TOITS A 2 d. Fregeiie 4,537
(A) oF>= e FAE Codes:
(B) FAl4=e GBI JIT FAE @ ) (© @
(C) AWy Sl [ AT (A) 1 9 3 4
22. 1. 9% 37T CO, ¢ I 7ot © 2 1 ¥ 4
2. U§ IF O NOASAC &) JRI I | (D) 3 2 4 1
3. T@ (AT (SR ITTF T IR (U I
T S D/ e Ao 27. o7 I o Srehw = Ty AR ww
(A) &3 1 S S
(B) &3 2 (A) CFCfasfm
(€) 149322 (B) F-wi-w3ize el
D) fieem @
23. “SEME AfREA @7 A4 TSy @
(A) *RE A9 T T 28. He was advised to abstain all alcoholic
(B) ITIMA THEe drinks.
(C) oW *fiera Taw Fill in the blank with most appropriate
preposition from the following.
(D) 73 TR TEm @) in
24, SIATSA T RE MNBF @I CF0a FIBT FH9e ? (B) at
(A) o @38 e, TA (C) from
(B) (SRR 3% (1R BeAiEH (D) by
(C) I @32 Bief TeAW
(D) B! 432 TR Beot 29. Questions will be answered by a of
experts.
25, Aem FESE (e (e wiEdR Fill in the blank in the above sentence by an
(A) Gt iR appropriate word given below.
B) AT SR E‘;g ;t:nf;
©) Wﬁﬁ CIREaE (C) bunch
(D) FreifRe wfgsm (D) band
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30. 1930 e T R XA ST HCHE GF
A
(A) FRIA
(B) wiféts
(C) wafers
(D) et

31. I TR (1928) T (e
(A) 9 @SSR AN

(B) W= ol

(C) ISR (& B

(D) SRR (712
32. Az oiFw 46 Q@ (OFFLL 932 ORI

v @eat @S fE A g Fdiva 32 ¢

w1 -1l
(SRTST FAALW Getil) ()
a. Az 1. ©ifiErg
b. ANeNG 2. S
c. Slelhd 3. T
d. Fat 4. JAeaa%
5. gfenisie
Codes:
(a) (b) (©) (d)

(A) 3 4 2 5

(B) 2 5 1 4

(©) 3 5 2 4

(D) 2 4 1 5

33. @i fobifim eizae s e &
LA ?
(A) 6w C
(B) feBifim A
(C) feuifim B
(D) feofm K

34. 5 @51 @G WM GR T (CRAE G ARS
TR TS TS TS “Aeu e
(A) =fSHd
(B) forwmiet
(C) wirerEd off afewen
(D) fRvgad
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35. Tva oI 4 (A AT Ter fJdiva T 2

wiferr-1 eIl
(o) ()
a. LS SHIFC 1. (5ga
b. BibifEE wifTe 2. @]
c. S e 3. BgIeo!
d. AiEGz ke 4,53 w3
Codes:
(a) (b) (© (d
(A) 2 4 3 1
(B) 2 3 4 1
(©) 4 3 1 2
(D) 4 1 3 2

36. MNw3 e 4 SR (A I Teawf AeT—

wiferel-1 (R afar) ifeel-11 (2023 1)
a. G &9I09F FEox 92 1. 5
b. G Tolres 3289 92 2. 3
c. G2 o1 7 (AT 3 IS
sy o2
d. [z Fvew o2 4. 4!
5. =
Codes:
(a) (b) (c) (d)
(A) 2 3 5 1
(B) 3 5 1 2
© 4 1 2 3
(D) 4 3 2 1

37. 1943 Aite A HHEE S (INA) S

G

(A) G
(B) ansf
(©) P
(D) W
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38. 10% =fere A @3 ¥f% B & /i a7 1 B @ <%
C @ 10% wits R 3 | @ Wi C el Rwe
ciR I T A Rfer 370 o3 o e #fS 70
(A) 10%

(B) 20%
(€) 5%
(D) 1%

39. S5a @I ChfEs iR T e
(A) 43
(B) 53
(C) 85
(D) 71

40. 229 15 & R[Rrere g s
(A) 18
(B) 15
(©) 20

(D) TR @AoE 71

30 & MM TAET IG 13 I=7 | O 242 18
TR O 91T 15 323 | AF 12 S [0 1S
(A) 123

(B) 10 3=

(©) 16 3=7

D) 10-5 3=

41.

42.

W 2=2 =¢ WA g7 A
(A)

(B)
©) 3
(D) THATIT @IS 77

W= Lhle=

T 204 Mt 2fS FEenam siwe e Afe [
T 2.88 WINR oI & SR#ITS GPITE 2fS R
fiférs s e T 2.52 ¢

(A) 2:3

B) 3:2

(C) 5:3

(D) 3:4

43.
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44. A €32 B 93T IIAW 3:2 wHiTe R @)
STt (T M 5% W A GR A GF JTAUEHS
AR T 4,275 2 @G Aces A

(A) Z 8,000
(B) 7,700
(©) 7,500
(D) 6,500

45. T e 16 91 IR G I 12 T @6 AYEZ

T 33,600 @SN IO WS 12 951 I I
I 18 & FNF HAYNZ Q@SN IR

(A) 40,000
(B) 35,000
(C) ¥28,800
(D) 37,800

. X 93 8%, Y 93 4% 93 N A X 97 20% T
(A) Y93 10%
(B) Y97 15%
(C) Y97 20%
(D) Y9 25%

47. A @ e T Fiee oot Seoivw w3 2

(A) =
(B) FHOIE
(C) 3ferpa

(D) &=

. YR oG T LR YO 4 2O AN
(A) SyrEffaas a3

(B) Ty =it

(C) 1t 7=t

(D) SIS =Rl
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49. g3 (T @ITOF SIC 24 T 60 B I
G (T Y & G GG 3% 9O o | FRm
G @RI siferEet
(A) 25 Rfa/a%t
(B) 15 /2%

(C) 20 ffai/e%!
(D) 10 ffi/=%!

50. B 10 5 3302 weeis Rfes 3 9o Ruaret 40%
e Faw | fofd D soef e Rmiee 2
A) 14
(B) 24T
(C) 30
(D) 1015

51. 2 A QT (P ELA 20 IR 3 94 T | G
AR R TS ITE @ e fawet 232
(A) 837=8
(B) 10 T=F
©) 123T=F
(D) 14327

52. 6 FRAIT AT 3:4 @R LA, 4| W2 4R
GRIRT
(A) 12
(B) 16
(C) 48
(D) 24

53. No one can bear an unprovoked insult. The
~ appropriate interrogative form of the above
sentence
(A) Everyone can bear an unprovoked insult.
(B) Can you bear an unprovoked insult?
(C) Who can bear an unprovoked insult?
(D) Would you bear an unprovoked insult?

54. He runs as fast as a deer.
The comparative degree of fast is used correctly
in the sentence
(A) He runs faster than a deer.
(B) A deer cannot run faster than he can.
(C) A deer can run faster than he can.
(D) Neone of the above.

55. The sun rose. The fog dispersed.

Which of the following sentences is correct, if
the above sentences are joined in the form of a
simple sentence?

(A) When the sun rose, the fog dispersed.

(B) The sun having risen the fog dispersed.

(C) The fog dispersed when the sun rose.

(D) As the sun rose, the fog dispersed.
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56. The boy said to his mother, “Where are you
going?”
Select the correct form of the sentence if changed
into indirect narration.
(A) The boy said to his mother that where she
was going.
(B) The boy asked to his mother where are you
going.
(C) The boy asked his mother where she was
going.
(D) The boy asked where she was going.

57. A boy was by a motor-car.
use the appropriate words in the blank.
(A) run into
(B) run over
(C) run at

(D) none of the above.

58. Do the work at once.
The correct form of the sentence in passive voice
is—
(A) You are directed to do the work at once.
(B) Let the work be done at once.
(C) The work should be done at once.
(D) At once the work be done by you.

59, @3 & P (A3 Q #1f® % T7 ¥R Q (AF P (©
i 3@ @ o | IORTS @I W @ 16
9% | g swaste ft e anew Wi S o
4 91 377 W &9 | I T S (@G (R6
F(A O@ Y A
(A) 15951
(B) 20 9%t
(C) 18 7%

(D) 12 9%t

60. % (Gra 0 T 80 fiirR @3k 90 G | et
AT 10 FoR/oee 9k 7 W/ oee
sfetare Aa==ies fire «fie @ 3 W@
AT WoTF AR ?

(A) 20 CTES
(B) 15 CTeS
(C) 17 oTze
(D) 10 GTETS
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61. TP e WHive ez
(A) TSl
(B) TSl
(C) Rrrerr Fifew Fpe
(D) Ru=ifamm F4ioe smpsa

62. SIS *9I 4% FAW
(A) SIFTse g JApasifs
(B) ©RTeR AFATS
(C) 2RFITBA 24 v
(D) Rurer sy

63. 3 TS S YI-RAR T 10% T, Y w2t
B 3N | & TS TE-RAT TS T
(A) 3:2
(B) 5:2
(€) 2:1
(D) 4.3

64. ©II® R FeTFF T (T 2N WIS ?
(A) RRER 2o
(B) 3T 2
(C) % e
(D) e gefien

65. (I e SRmwiE 7o T e
(A) 5 g
(B) 3 foy
(C) coigrasEe gy
(D) o P

66. (T TFT 20% 37 I ~ST TG JIF 20%
I T | G4 I T 1
(A) 937
(B) 4% 3%
(C) 4% @™
(D) 8% @t

67. (I SIS TREN AUV TOIEH T I ?
(A) TR IR
(B) JtmaE e
(C) w1=fS e
(D) 9. . @fF 35
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68. 88 @I fRetey biw wrwEw 37Ew MU 2
(A) 9944
(B) 9678
(C) 9988
(D) 8888

69. 1-2+3-4+5-6+7-8+....... &2 TP
1000 #1¥® 77 W 27
(A) 450
(B) -500
(C) -550
(D) T a1 71eg 7

70. ﬁgﬁﬂg@@awmmmﬁﬁws
g, '9', F, E, ..........
Q

(A) 2
0

(B) 5¢

Q
©) o
P
27
71. 2013 AT ACHF THANGIET 79" ISRO-F

WHIERICREIG O]

(A) T3 (3% 21!

(B) T3 3T. 7. e

(C) © @. AT
(D) ©: f&. Mea A7

72. (PG @2
(A) TER
(B) GT%%d
(C) «fze
(D) «qre9d

73. OO T0ER 2 Bt o =W
(A) TER
(B) (SR
(C) TR
(D) NS

74. FifeRE Sow i s7Ee
(A) fesse eimedt
(B) Teamiee
(C) (ot
(D) SN

(D)
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75. @ [uwet 367 g [{fF w9 4% @12
fafer v =S = | o7 e wiox Al

(A) 10%
1

®) 115%

(©) 12%%

(D) Toim @IfbR 7

76. FHave T wsEe it FAdfae e o

(A) 35
(B) 37

(C) 45
(D) 46

77. The word opposite in meaning to ‘Kind’ is
(A) Honest
(B) Famous
(C) Similar
(D) Cruel

78. G SRS FAEE 4, 5, 6 213 O T T
2,38 4 Si9T A | A ==

(A) 214
(B) 476
(C) 954
(D) 1908
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79. Which of the following sentences is correct?
(A) There is a university in Kolkata
(B) He is a university student
(C) A university will be established at Asansol
(D) None of the above
me,

80. My brother is younger e
Which of the following words will be appropriate
to the above sentence?
(A) than
(B) by
(C) with
(D) to

81. T%r 72 B et 110 o ez @B G 132
it N s wfeww w200 g (@
(A) 9.8 Gie
(B) 12.1 (%
(C) 12.42 %
(D) 14.3 i

82. I, who your superior, should be respected.
Fill in the blank with the appropriate words
given below:

(A) am
(B) is

(C) are
(D) was

83. R R I AFRR Sete 7:51 IF @
e G et 2400 28 O Aferea w1t
IFG?

(A) 500
(B) 200
(C) 1000
(D) 700

84. I FARE ¥ AT (AT 7 T FE 9R T T
2 (A7 5 W I WITZ | O #7947 SRE #iF3adw
T T TP (AT 1997 B A | A (A
T S
(A) 2199
(B) 1999
(C) 2399
(D) 20%%



85. Murderer of one’s father is
(A) Fratricide
(B) Patricide
(C) Homicide
(D) Matricide

86. FAyawe FAnelF ot [Resw Fam e s
wmﬂﬁammﬁw:
17 19 15 14

Y oYY

549 650

(A) 421
(B) 561
(C) 322
(D) 221

87. @I T 95 TR 200 a7 &1 5 =
AT 30 & FT=9 (AF B (o | IS @
T HECA 2
(A) 180 .
(B) 285%
(C) 139
(D) 285
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88. N mem *melwe A7 Sy Tifye
*3E I 2
(A) MG ¢ 2!
(B) I & I
(C) =% ¢ g

(D) e 2 B

89. Raman is the better the two boys.
Fill in the blank with appropriate words given
below:

(A) than
(B) in
(©) to
(D) of

90. He lost his mother as soon as he was
Fill in the blank with the appropriate words
given below:

(A) borme
(B) bear
(C) born
(D) bore
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